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Simplify each expression.

1) (2v-2v*+4)-(8v* +6v—8) —(7-2v+21?)
- Ve v 5
2) (8m® + Tm+ 1) + (4m® — 7 + 5m) + (4 — 6m® — m)
bm? +1lm -~
3) (5+n*+2n)+ (3 +5n%—2n) + (2% —=n +8)
SN* - ri
4) (2+5x®+4x)+(5x -3 +8x%) - (x* - 5-8x)
120 H17 K Y
5) (4k+6k2+5)+(7—k2+2k)+(1—7k2+8k)
“2 Y Y ICH 13

6) (4— K2 +5k)+(2k+1-7k) - (5 — 6k + i)

- G +13 I
8) (4b——6+8b3)-i(5b3-6b)
3 b ‘3+1w~~v

10) (57° =71 =5)+(5n=7)
O -1
12) (8n% + 8n+ 6) + (5n - 2n?)
(o1 y13h + (o
14) (p* - p-20°) +(89° + 8p%)
Do +Gp™-p
16) (3n* +7n* +2) — (30 - 8)

SnT 490 +I0

7 (8 +5m® — Tm) - (6m> +2)
M T+
9) (3-2k+8%%) + (5k+ &%)
gl t>ic 3
11) (58 +3k* +2) - (3 - 5%°)
ol 3r3ic?-]
13) (46% -3 —26%) + (452 + 4)
-ab?Fyb”
15) (6x® + 7x* +2x) - (7x* + 2x)
X

17) (1 - 4v® + 2v%) + (8v* - 4)

ov -ty * -3



